AP® MACROECONOMICS
2012 SCORING GUIDELINES

Question 1

12 Points (2 + 6 + 4)
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(a) 2 points:

One point is earned for a correctly labeled graph of the production possibilities curve (PPC).
One point is earned for showing point A inside the PPC.
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(b) 6 points:

One point is earned for identifying the buying of bonds as the correct open-market operation to
use.

One point is earned for drawing a correctly labeled graph of the money market.

One point is earned for showing a rightward shift of the money supply curve, resulting in a lower
interest rate.

One point is earned for stating that the real interest rate will fall.

One point is earned for explaining that with the price level remaining constant, when the nominal
interest rate falls, the real interest rate also falls.

One point is earned for stating that the real GDP will increase in the short run and explaining that
investment or consumption increases, causing aggregate demand to increase.
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Question 1 (continued)

(c) 4 points:

One point is earned for stating that the current account deficit will increase.

One point is earned for explaining that the increase in real GDP increases income, which causes
imports to increase and net exports to decrease.

One point is earned for stating that the international value of the bera will decrease.

One point is earned for explaining that the decline in the international value of the bera is due to an
increase in the supply of the bera.
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Section IX ! *
Planning Time—10 minutes
Writing Time—50 minutes

Directions: You have 10 minutes to read all of the questions in this booklet, to sketch graphs, to make
notes, and to plan your answers. You will then have 50 minutes to answer all three of the following
questions. It is suggested that you spend approximately half your time on the first question and divide the
remaining time equally between the next two questions. In answering the questions, you should emphasize
the line of reasoning that generated your results; it is not enough to list the results of your analysis. Include
correctly labeled diagrams, if useful or required, in explaining your answers. A correctly labeled diagram

must have all axes and curves clearly labeled and must show directional changes. Use a pen with black or
dark blue ink.

1. Assume that the country of Rankinland is currently in recession.

(a) Assume that Rankinland produces only food and clothing. Draw a correctly labeled production possibilities

curve for Rankinland. Show a point that could represent the current output combination and libﬁ;l. it A,

ANt beloud
(b) Assume that the Central Bank of Rankinland pursues an expansionary monetary policy.‘Pu O-NAS

(i) Identify the open-market operation that the Central Bank would use.

(ii) Draw a correctly labeled money market graph and show the short-run effect of the expansionary
monetary policy on the nominal interest rate.

(iii) Assuming no change to the price level, what happens to the real interest rate as a result of the
expansionary monetary policy? Explain.

(iv) Given your answer to part (b)(iii) regarding the real interest rate, what happens to the real gross
domestic product (GDP) in the short run? Explain.

(c) Suppose Rankinland has a current account deficit. Rankinland’s currency is called the bera.

(1) What will initially happen to the current account deficit in Rankinland solely due to the change in the
real GDP from part (b)(iv) ? Explain.

(ii) What will happen to the international value of the bera solely due to the change in the real GDP from
part (b)(iv) ? Explain.
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Question 1 is reprinted for your convenience. f

1. Assume that the country of Rankinland is currently in recession.

(a) Assume that Rankinland produces only food and clothing. Draw a correctly labeled production possibilities
curve for Rankinland. Show a point that could represent the current output combination and label it A.

(b) Assume that the Central Bank of Rankinland pursues an expansionary monetary policy.
(i) Identify the open-market operation that the Central Bank would use.

(ii) Draw a correctly labeled money market graph and show the short-run effect of the expansionary
monetary policy on the nominal interest rate.

(iii) Assuming no change to the price level, what happens to the real interest rate as a result of the
expansionary monetary policy? Explain.

(iv) Given your answer to part (b)(iii) regarding the real interest rate, what happens to the real gross
domestic product (GDP) in the short run? Explain.

(c) Suppose Rankinland has a current account deficit. Rankinland’s currency is called the bera.

(i) What will initially happen to the current account deficit in Rankinland solely due to the change in the
real GDP from part (b)(iv) ? Explain.

(i) What will happen to the international value of the bera solely due to the change in the real GDP from
part (b)(iv) ? Explain.
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Section II [ :r‘, A
Planning Time—10 minutes
Writing Time—50 minutes

Directions: You have 10 minutes to read all of the questions in this booklet, to sketch graphs, to make
notes, and to plan your answers. You will then have 50 minutes to answer all three of the following
questions. It is suggested that you spend approximately half your time on the first question and divide the
remaining time equally between the next two questions. In answering the questions, you should emphasize
the line of reasoning that generated your results; it is not enough to list the results of your analysis. Include
correctly labeled diagrams, if useful or required, in explaining your answers. A correctly labeled diagram

must have all axes and curves clearly labeled and must show directional changes. Use a pen with black or
dark blue ink.

1. Assume that the country of Rankinland is currently in recession.

(a) Assume that Rankinland produces only food and clothing. Draw a correctly labeled production possibilities
curve for Rankinland. Show a point that could represent the current output combination and label it A.

(b) Assume that the Central Bank of Rankinland pursues an expansionary monetary policy.
(i) Identify the gpen-market-eperation that the Central Bank would use.

(ii) Draw a correctly labeled money market graph and show the short-riin effect of the expansionary
monetary policy on the nominal interest rate.

(iii) Assuming no change to the price level, what happéris to the @_@L’uw as a result of the
expansionary monetary policy? Explain. :

(iv) Given your answer to part (b)(iii) regarding the real intercst rate, what happens to the real gross
domestic product (GDP) in the short run? Explain.

(¢) Suppose Rankinland has a current account deficit. Rankinland’s currency is called the bera.

(1) What will initially happen to the current account deficit in Rankinland solely due to the change in the
real GDP from part (b)(iv) ? Explain.

(ii) What will happen to the international value of the bera solely due to the change in the real GDP from
part (b)(iv) ? Explain.
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Section II ' ‘ |

Planning Time—10 minutes

Writing Time—50 minutes

Directions: You have 10 minutes to read all of the questions in this booklet, to sketch graphs, to make
notes, and to plan your answers. You will then have 50 minutes to answer all three of the following
questions. It is suggested that you spend approximately half your time on the first question and divide the
remaining time equally between the next two questions. In answering the questions, you should emphasize
the line of reasoning that generated your results; it is not enough to list the results of your analysis. Include
correctly labeled diagrams, if useful or required, in explaining your answers. A correctly labeled diagram
must have all axes and curves clearly labeled and must show directional changes. Use a pen with black or
dark blue ink.

1. Assume that the country of Rankinland is currently in recession.

(a) Assume that Rankinland produces only food and clothing. Draw a correctly labeled production possibilities
curve for Rankinland. Show a point that could represent the current output combination and label it A.

(b) Assume that the Central Bank of Rankinland pursues an expansionary monetary policy.
(i) Identify the open-market operation that the Central Bank would use.

(ii) Draw a correctly labeled money market graph and show the short-run effect of the expansionary
monetary policy on the nominal interest rate.

(iii) Assuming no change to the price level, what happens to the real interest rate as a result of the
expansionary monetary policy? Explain.

(iv) Given your answer to part (b)(iii) regarding the real interest rate, what happens to the real gross
domestic product (GDP) in the short run? Explain.

(c) Suppose Rankinland has a current account deficit. Rankinland’s currency is called the bera.

(i) What will initially happen to the current account deficit in Rankinland solely due to the change in the
real GDP from part (b)(iv) ? Explain.

(ii) What will happen to the international value of the bera solely due to the change in the real GDP from
part (b)(iv) ? Explain.
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Question 1
Overview

Part (a) tested students’ ability to draw a production possibilities frontier diagram and to indicate a
recession on the diagram. Part (b) asked students to identify the open-market operation that a central bank
would use to address a recession; to show the effect of expansionary monetary policy on the nominal
interest rate, using a correctly labeled money market graph; and to explain the effect of the expansionary
monetary policy on the real interest rate and real gross domestic product in the short run. Part (c) tested
students’ ability to explain the effect of an increase in a country’s real GDP on that country’s current
account deficit and the value of the country's currency.

Sample: 1A
Score: 12

The student answers all parts of the question correctly and so earned all 12 points.

Sample: 1B
Score: 6

The student earned 1 point in part (a) for a correctly labeled production possibility curve. The student
received 1 point in part (b)(i) for stating that the central bank should buy bonds. The student earned 2 points
in part (b)(ii): 1 point for a correctly labeled money market graph and 1 point for showing the short-run effect
of an expansionary monetary policy on the nominal rate of interest. The student earned 1 point in part (b)(iii)
for stating that the real interest rate declines. The student earned 1 point in part (b)(iv) for explaining that an
increase in aggregate demand leads to an increase in the real GDP.

Sample: 1C
Score: 2

In part (a) the student earned 1 point for a correctly labeled production possibility curve and 1 point for
showing the current output combination and correctly labeling it point A. The student lost all 4 points in
part (¢), because the answers are inconsistent with the answers to part (b)(iv) on real GDP.
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